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DESIGN OF STRUCTURE-.
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The flgures ln the margln lndlcate
full lmarlc,s for the questl.ons.

1. (a)

Answer ang fiae Etestions.

State the assumptions made in the

theory of elastic bending. Why do we

use less factor of safety for steel as

compared to concrete ? What is
modular ratio ? What is its significance

in design ? Give steps for determining

the moment of resistance of T-beam.

2+L+L+2+4= 10
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4. Define one-way and two-way slabs with
figure. Design a reinforced concrete slab for
a room of clear dimensions 4rn x 5m, having
two adjacent edges discontinuous. The slab
is supported on walls of width 3OOmm. The
slab is carrying a live load of 4lcA{/ m2 and
floor finish IkI{/ m?. Use M20 concrete and

5.

Fe4 15 steel. 20

Explain the differences between long and
short column. What is the function of
transverse reinforcement in a column ?
Design a circular column having a.n orial
load of 22OOkN. The unsupported length of
the column is 3.2m. Use M25 grade concrete
and Fe415 steel. Consider both ends of the
column as effectively held in position but
not restrained against rotation. 5+ 15=20

Design an isolated footing to support a
column of size 25O x 4OOmmto carry an arial
load of 1200kJV. The safe bearing capacity
of soil is 130kil/ nP. The width of the footing
is limited to 3m. Assume
Fe415 steel.
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crete and


